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a) 3x2 4+ 10x +8 = Bx +4)(x +2)
b) 6a2 + 1lab —2b% = (a + 2b)(6a — b)
o xty—xy* =xy(x®—y®) =xy(x - »)(x? +xy +y?)
d) 81a® +3=3(3a)® +13) =3@Ba + 1)(9a® —3a + 1)

BEBCLBENVBEARTTEHE, BE3x+2 RUEx+6EBD.
(Ch&Y, 3x3—4x2 + 12x+16 = (x2 = 2x +5)Bx +2) + (x + 6) &XEB.)

a) P)=23+5.22-2.2-24=0. ChdY, P(x) & x—2 TE>1cEZDRYUIB 0 THBE, THDS
P(x) [ x —2 TEIUEINBDZ ED DD B.
b) P(x) % x —2 TEIBE, P(x) = (x —2)(x2 +7x + 12). SBICEHNHRLT P(x) = (x —2)(x + 3)(x + 4).
¢) x34+x2—6x = x(x—2)(x+3) EBHENBSNBD T, BARKIEIE (x—2)(x+3), BIDEBHUE x (x—2) (x +3) (x+4).

a) % b) 3x72 c) 2 d) 9x2y3

a

1 8ab — 6a + 5b —x(2x —13) x—3
5 8ab —6a + 5o A G Y . X=5
) b b) 15ab ) Gr-Dex 1 3) ) "G oD -2

C(x—3)2(x+3) (x +2)2(x —2) xy—1 x

[E] HEDIHED 1DDRSH x & 95, @A EZR TESICITAROETEIR (x —2)(x + 5)x. INHEHEDITHED
78 x3 kU 48em3 I LI-DIZH'S, (x —=2)(x +5)x = x3 +48. CNABIBL, BRHNRITSE Bx+8)(x—6) = 0.
CZT, x>012h5, x =6 YEE—DREERS.

7] a) x<-3. x2>1, b) 3—vV2<x<3++2 ) x<—1=+2, x>-14+2

y=x2-2x-2=(x—-1)2-3&L, -1SxS5CBVTHSTEBBREEN<. x = 5OEER/KT, /K
B13. x = 1 DEERNT, B/IVE -3.

8] a) 1MELFIBE LERYEFIRBDEVNSTELND, x BBELFTHE 3 B5Y LFHRES. Lich>T, 5
@i (80+x) MO E EMEDFY Ll (100-%) &5 Y, 5528 Goil) x G3Y EHFBE) = (80+x)(100—%) =
—2(x = 60)2 +9800. CN&Y, BOFY LFEEESSHIHDFEMIE 80 + 60 = 140 [.

b) a) &Y, BROFTY LHFEEEZFEIDx =60 DEE. CDEE, FEfiid 80 4 60 = 140 A.

BOMDESA x £ET38, BELDOESF 10— x £A3. [BOD] H TEOD] KURSICENODRER
x<10—x. I9b5BEx <5 ThHd. —AH, RAEOEREE x(10 — x) DT,
x(10—x) 221 &= —x2+10x—-2120 < (x-3)(x—-7)<0 < 3<x<7

NEXFEDRGEZEHDETI S x <5

1] a) 5 b) 1 c)% d) 5

1 DAY FIOICEBNEDRR = (LROT, WhE n DRYRTLEE, EENHORBLED (%) %
5. NP ol MFERBESIC LD, TaDs, (%)” < # 8% n ERONEEL. TIOD log,, &Y,
HEOEAMERZBOTERTSE, n(log;g2s —log; 10) < log;, 1 —log; 104, EBICEFL T n(logp2—1) < —4.
T, logp2 = 03010 AV THEHETEHE (n ORMNEBRO TRESOBAENEDS EIFELT),
n>57227.... IBHE, 6 TEATNELOIENDHB.

a) % b) «/ECOS(—%JT) + 3sin %n —sin(—%) -7
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a) 0= in, %n b) 0 = i71, ln, in, in
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a) £/(0) = lim GA=D = CEDT ) A2 —dh oy ap gy = 4
h—0 ’ h—0 h h—0
20+ h)—1)" =12 2
b) f/(1) = lim ea+m-1) — lim A a4y =4
h—0 h ) h—0 h—0
2a+h)—1)* = 2a —1)? 2 N
O fl@) = lim LNV ZQaZ DR 402 4 Sah —4h
h—0 h h—0 h

a) f/(x) = 2(x 4+ 3x2) + 2x(1 + 6x) = 2x(2 + 9x)
b) f/(x) =23x -5+ (@2x +3)-3=12x — |

= lim (4h 4+ 8a —4) = 4(2a — 1)
h—0

) /) =24+x+D+x—D2x+1)=3x2 (f(x) =x3—1 CEMRFRIITRES.)

a) 16 b) 8
3 _ 2 _ _ 3 2
O 11 lim CEW QAN @AW 13 S8+ Th
h—0 h h—0 h
d) y=7x—-11

e) f/(x)=3x2-2x—1 fy x=1, —%

g) f’(x):—lé:?‘ciéx(atoé:%. X=0TOERy =—x+1, x:%'(“@%%?ﬁy?y=—x+—

h) EREAE<E x = _é TREXE % x =1 TEIME 0.

P =32 —dx—2 T, fix) = 0 EBBDE x = “37*@ DEE.
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f'(x) + 0 - 0 +
fx) | o | A Rk [N\ | fh | S|4

L/Tv:b\\j <, f(x) Fx = L;/E (D(\_:%EEi)J\’(“, E%)J\{E _% =
—327, x=3DEERKT, BAE4EBD. I 7FEDHDEDICHD.

a) BIDETAFNEVFAVDOTx > 0HD 10—2x > 0 HD 16—2x > 0.
PAIC0<x <5.
b) #&F& V = x(10 — 2x)(16 — 2x) = 4x(5 — x)(8 — x).
Q) V' = (4(x> —13x2 + 40x))" = 4(3x2 — 26x + 40) = 4(x —2)(3x — 20).
O0<x<5DFEETV =0&ER82DEx =20 0<x<5DHEHTIZ
BERZESETDLDICED,

x |0 2 5
%4 + 1 0 | =
VIi0o| /7| 144 | 1]0

LIcH' 2T, x=20&EE, BBV BBRKRERS.

=limG2+5h4+7) =17
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